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'n mwn: excluded categories from my1av
Excluded: slaves, land, documents, wTpn
b Applications:

a

1

ii
iii
iv

No:593 »mwn - per 5921 V1M Y93 in v. 1 (source for 993) which excludes:

1 yp37 must be poYon

2 pr7ay. compared to Ypp (..omR onyninm)

3 mvw: no inherent value

4 wipr not "y

Nor: 4/5, (since it can never happen without 99, as the n7n didn’t obligate 3 / 4
Nor does: n" take an oath - per exclusion of v. 2 (9531 V191 553 and 1Y)

Nor does: v pay for ponr - per exclusions of v. 3 (9931 V19 Y93 and Wny7)

1 w77 if the WP carry m»nR (e.g. 111) — included; else, excluded

s mwn: nature of object of oath
dispute nnan/n™ about the status of laden vines vis-a-vis nyaw

a

i

ii

n": some things are like yp1p but not treated as such; if one claims that he gave (as a 177p9) 10 laden vines and the other
admits to only 5, he must swear

1 Reason: n™ considers grapes about to be harvested as already cut off = pvYon

o7p17. no oath (they don’t consider them w%vYon until cut off)

Requirement of claim and admission being measurable

i

ii

We do not take an oath about an imprecise claim — must be measured, weighed or counted
1 Example: if claimant states that he gave a full shed (of grain) or full pouch (of money) and defendant says that he
doesn’t know, just what is currently there is what he received — 7109
2 However: if one says that the grain reached until the beam and the other — until the window — 2»n
Analysis:
1 »ax: this is only limited if he said “a house”, but if he identified and said “this house” — valid claim
(a) Challenge (X27): end of mwn — why present “window” vs. “beam”; if he said “this house”, should be enough
2 N7 both claim and admission must be measured, weighed or counted
(a) Supporting »n»3x claim is n®¥an M3 and response is total denial;
(b) Or: claim of a large lamp or belt and response is admission to a small lamp or belt — 7102
(i) But:if claim is nRyan 73 and response is admission of nXyan nY - liable
1. Or: claim is a lamp weighing 10 810’5 and admission is to a lamp weighing 5 — liable
(if) Rule: only liable if the claim is something that is measured, weighed or counted
1. And: the admission is of something that is measured, weighed or counted
2. Note: added “rule” must be there to exclude X5n nr na
(c) Tagential observation about xr»1x. “large” vs. “small” lamp should be no different than 10 vs. 5
(i) Answer: refers to lamp made up of segments; admits to fewer segments
(i) Block: if so, same should apply to belt (fewer links)
1. Rather: we’re not discussing a linked belt or a segmented lamp
(iii) Answer: alamp can be scraped off to hold fewer 87109
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